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; Grey line: exponential fit Peak flux: 0.674+/- 0.013 c/s/cm? é
- g% Black Iing: power law + gauss fit Fluence : 24.58+/- 0.94 c/cm? .
T Dashed line: power law i
- . Duration : 128.65+/- 2.63's N
B . Best fit model: 3. n
- Best fluence model: 3. ]
= | Best duration model: 3. 3
= bl i
- I (RN %
g T
amhii S LG ERACH
; Exponential fit é
= Expon.time: 47.42+/- 1.13s (chi*red= 4.53) 3
= | =
2 + -
- Hh + 3
= f i Fo bt i byl | .
= f ft f T T T TR PR TN I TR XL AT SO Y
= EAE et TR AT N bRt BT T AAE 0l I s B 4
= *ﬂﬂwfﬂ*ﬂm Tﬁmwﬂﬂﬁ WH* il fiH 't P WM i 1 mm it | ﬁﬁ%w £ i ﬂj W W&;
- c e
; Power law fit é
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